KP60 =7

15 1% =
masssanas \__/
* B EmNEB N%

BRHEfrnEEiE © kPa - MPa - kgf/cm? « bar - psi * mmHg
- AEERX - 607018 HENRIENARR

s EMEFEFRMNLCD £

* BEE AR ER

 {REEHE : 1P65
m FRRER
(B B (E =)
B 5
W KP60V KP60OVL KP6OP KP60PL
1.000 MPa —{—
o | mmmess ol B .
-101 kPa —|— - .
e AEE 0~-101 kPa 0.000 ~ 1.000 MPa
FERENEE 10 ~ -101 kPa -0.100 ~ 1.000 MPa
M 300kPa 1.5 MPa
RS ZER 0 JERSEMME - TR
kPa 1 -
MPa - 0.001
B S EEAL kgficm? - 0.01
BTRERIRE bar 0.01 0.01
psi 0.1 0.1
mmHg 1 -
Eh CR 2032 $87;th
B i =l i i
EtEw 3FEBR/R) 15 (5%/K) 3FEBR/R) 15 (5 //R)
EEEEE g
S A E R El
RIHERS RS FER 60 ROIEEA KR
AnigsaR 2 Hz (2 RI7)
BAHEMFER psi, bar, nmHg, kPa psi, bar, kgficm?, MPa
BERE +1% F.S. +1 digit +0.2% F.S. +1 digit
AR 3 ', 8i{i7, 7 segment
BETRERE £2% F.S. 1 digit (£38ERfE : 25 3 °C)
BhEEEAR IP 65 (*1)
BERE BE : 0~50°C, 1§77 : -10 ~ 60 °C (KBER TR )
IR BERRE B){EB(R17 : 35 ~ 85% RH (k)
it4RED EIFIE1.5mmE10G, E—45$810Hz~55Hz~10Hz , X ~ Y ~ Z BES A E2/)\8
MifE 100m/s? (10G), X ~ Y ~ Z BEABE3 X
REE +2% F.S. th#2E]E25°C (0 ~ 50°C;AZEER)
. F1: R1/8”, M5; F2 : NPT1/8”, #10-32 UNF; F3 : G1/8”(BSPP), M5
BHE F4 : R1/4”, M5; F5 : NPT1/4”, #10-32 UNF; F6 : G1/4”(BSPP), M5
E3 # 40g
1. BERIP6SHIBHE SN BRETRE ©
m ERERAT
B EIRER
ESR=#ETN
ESRIVEZERIN




m RUSRARARER AR

KP 6O0PI[]-F
1

E

—l

EE¥aEd BEORK

V: B [E (10 ~-101 kPa) F1: R1/8", M5

P:IF % (-0.100 ~ 1.000 MPa) F2 : NPT1/8", #10-32 UNF
e F3 : G1/8"(BSPP), M5

] F4 : R1/4", M5

0 EESN F5 : NPT1/4", #10-32 UNF
L:BEX F6 : G1/4"(BSPP), M5

B FARIGERS)

BT-5 : EE2e

BT-6 : E28

PA-C : EiRi%GaR
PA-D : EiRiZAS+AIRES

p
mm EEZE EiREa S A RS
i — - - -
Ll i “ T-”'\ |
il l__‘___, . 1l

- U -
e
mBT-5 EBT-6 MPA-C m PA-D
m FiEAER S RSTE
B Exg
@) <—M3*0.5
.............. ) —_
.. @) <—M3*0.5
-

B miras

p
_l
): BIREE —I

31
o
4 344
_l 4
|
:) E*ﬁ?&é‘%§4] ' |
_ J

—>|-|T—t§445mm

A=

20

RoHS

= |

.
o
on

N
N
o

W
o

20

F1~F3:Hex flat:12

A
21.837
I
o | mmiH|D
: \

F4~F6:Hex flat: 14

BT-5

N
N

—
a

BT-6

IS
&

33

30.2

zoe
3

[=]

46 | 47



	P.46-KP60-1
	P.47-KP60-2

